H & 0l & AHS B Ml A

SH: MEBT
B FoE KN
CHell HAS U FHOHE /ALY (ol m2)
A - B G(3H) - NRAY - HES ol ke G o HlmS2
M S A} 98,285,917 85,472,220 12,813,697
= 78,333,705
s 112,725
Al 17,101,593
- 2,737,8%4
FHAANES XA 3,163,592 2,620,159 543,433
= 2,223,690
Al 625,628
- 314,274
HAS Y FHAHES KN2AY 3,160,592 2,615,159 545,433
= 2,222,190
Al 625,628
- 312,774
FAr=1==IN 2,777,738 2,049,391 728,347
= 2,222,190
Al 277,774
- 207,774
307 212+01 ™ 2,777,738 2,049,391 728,347
= 2,222,190
Al 277,774
- 217,774
01 9= 7=H| 2,777,738 2,049,391 728,347
OFI=EN 2,777,738
= 2,222,190
Al 207,774
- 277,774
A JIZEENE ALY 97,000 288,600 191,600
Al 97,000
301 LB F 97,000 288,600 A191,600
Al 97,000
02 MBI EZASHS(HUAS, XLTHA) 97,000 0 97,000
OR4M™ JIIZ2ENE MAHAZH 97,000
Al 97,000
MASF0 A2A88s X2 35,000 35,000 0
301 LPBNZ 35,000 35,000 0
02 MBI EERGS(HAUAS, XLTHEA) 35,000 0 35,000
OMASEF0 HLBEE XA 35,000
MASZF0 AHISEXI2 (2SO=Y]) 76,000 17,000 59,000
Al 76,000
301 LetENEZ 76,000 17,000 59,000
Al 76,000
02 MBI 2EAH S (HUAHS, NSTHA) 76,000 0 76,000
OMAEZ0 S| 76,000
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SN MBI
Ho: HASZO| OHEOl ME XH
o MASE H2AAL (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 2,016,177
NASE N2 6,344,824 5,434,305 910,519
= 5,571,031
= 21,495
Al 526,747
- 225,551
AE22 A 4,292,419 4,517,576 N225,157
= 3,863,358
Al 300,483
- 128,578
301 EetE2 NS 4,292,419 4,517,576 N225,157
= 3,863,358
Al 300,483
- 128,578
01 Al EE A S (2 RDEEMA) 4,292,419 4,517,576 N225,157
OXEZZAML 4,292,419
= 3,863,358
Al 300,483
- 128,578
INE:DA ol 1= EONE=! 377,535 350,815 26,720
= 264,274
Al 79,283
- 33,978
307 elzto| & 377,535 350,815 26,720
= 264,274
Al 79,283
- 33,978
10 AlRISTIAIEEE 22X 377,535 350,815 26,720
OXNS A2l X2 377,535
= 264,274
Al 79,283
- 33,978
KNS LE A=A 37,450 28,980 8,470
Al 26,215
- 11,235
307 elztol & 37,450 28,980 8,470
Al 26,215
- 11,235
10 Al SXAZEHE 22X 37,450 28,980 8,470
OXG e A=K+ 37,450
Al 26,215
- 11,235
Kt Aref 22 At 30,707 0 30,707




FAN SE2F0
Ho: HASZO| OHEOl ME XH
o MASE H2AAL (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 21,4%
Al 6.449
- 2,763
307 @I2to| & 30,707 0 30,707
[ 21,49%
Al 6,449
- 2,763
10 Al SAAEEHE 22X 30,707 0 30,707
ORXHE Atel| 22| AL 30,707
[ 21,495
Al 6,449
- 2,763
ZesaEAETSAHAEFS N 1,606,713 0 1,606,713
= 1,443,399
Al 114,317
- 48,997
307 elztol & 1,606,713 0 1,606,713
= 1,443,390
Al 114,317
- 48,997
11 AMEISXAEEES 1,606,713 0 1,606,713
O2zssElersiErs8id 1,606,713
= 1,443,390
Al 114,317
- 48,997
ESEPIESRS - RS Ears IN DAL 58,526,856 54,963,014 3,563,842
= 52,654,601
Al 4,081,629
- 1,790,626
HASN 39,500,000 38,744,000 756,000
= 35,550,000
Al 2,765,000
- 1,185,000
301 EetE NS 39,500,000 38,744,000 756,000
= 356,560,000
Al 2,765,000
- 1,185,000
01 Al E2E A S (2 REXMR) 39,500,000 38,744,000 756,000
OMASH (L3 39,500,000
= 356,550,000
Al 2,765,000
- 1,185,000
M= g={0; 34,700 33,253 1,447




SN MBI
B HASSO OHENOl MF K
o9l RODIZMBEILZT X (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
308 XXM SOIH 34,700 33,253 1,447
08 W=J|20CHet 2 & 34,700 33,253 1,447
OuUSS0(Let+=3 At 34,700
SHAEHIZ O 300,000 270,000 30,000
= 270,000
Al 21,000
- 9,000
301 EtE NS 300,000 270,000 30,000
= 270,000
Al 21,000
- 9,000
01 AR 2EAHSHS(RNEXRTHE) 300,000 270,000 30,000
Ot RS0 300,000
= 270,000
Al 21,000
- 9,000
SHAE RSO (AIE) 22,000 20,000 2,000
= 19,800
Al 2,200
301 EtE NS 22,000 20,000 2,000
= 19,800
Al 2,200
01 Al EE A S (2 REXMR) 22,000 20,000 2,000
Ot AHEMSH (M) 22,000
= 19,800
Al 2,200
FRA=XHAE 185,000 185,000 0
= 185,000
307 @20l & 185,000 185,000 0
= 185,000
11 AMEISXAEEE 185,000 185,000 0
O F =AM 185,000
= 185,000
FHSN 18,477,556 16,662,821 2,824,735
= 16,629,801
Al 1,293,429
- 554,326
301 EtE NS 18,003,742 14,968,569 3,035,173
= 16,203,368
Al 1,260,262
- 540,112
01 Al EE A S (2 RDEEA) 18,003,742 14,968,569 3,035,173
NS0 (Let==2X) 18,003,742




SN MEEED
Hu: HASZHO
[u]

e 2 & (EH9): ®2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 16,203,368
Al 1,260,262
- 540,112
403 AXIEHHSAH=201H 473,814 684,252 A210,438
= 426,433
Al 33,167
- 14,214
02 SVI2S0 U H=E S AL 473,814 684,252 210,438
OFESXSH(LEH=2I) 473,814
= 426,433
Al 33,167
- 14,214
SEEIMEE 3,400 53,740 /50,340
201 et 3| 3,400 2,740 660
01 AtR2te|Hl 1,800 0 1,800
OSE XA eI M 1,800
02 35244l 1,600 2,740 21,140
OSEXARIE2 ] 1,600
NS A 100
-AESE & RA2cl 1,500
=37 dE2EA2S 28 4,200 4,200 0
201 et 3| 4,200 4,200
01 At2t2l] 4,200 4,200
O3 H22HAYE 3o 4 =2
&) 100,000 6 & =22 1,200
O3 H2EAYE 3o A4 == (M
2) 50,0002 +x6E x 102 3,000
ZoHelel afol & grat 29,988,968 22,306,594 7,682,374
= 17,884,383
Al 11,844,782
- 259,803
ZoHel HASH 29,988,968 22,306,594 7,682,374
= 17,884,383
Al 11,844,782
- 259,803
HHSH(HOoR) 260,000 260,000 0
= 234,000
Al 26,000
301 EetE NS 260,000 260,000 0
= 234,000
Al 26,000
01 Al 2E A S(SRNEXMHE) 260,000 260,000 0
OFOMHANFAIE MAZH 260,000




SN MBI
B3 mo{olo] 40| W BHal
Sl Hojel AAsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 234,000
Al 26,000
ZOHIHFAIE 2EXR(EX) 2,8%,300 2,398,960 497,340
= 2,027,410
Al 868,890
307 gl2to| & 2,896,300 2,398,960 497,340
= 2,027,410
Al 868,890
10 Al SXA2EE 22X 2,8%,300 2,398,960 497,340
OZOHAHFAIE 21| 2,760,300
= 1,932,210
Al 828,090
OO AFAIE 2el2EH| 136,000
= 95,200
Al 40,800
A AFAIE s K 41,505 0 41,505
= 29,053
Al 12,452
307 21201 & 41,505 0 41,505
= 29,053
Al 12,452
10 Al2ISTIAIEEE 22X 41,505 0 41,505
OHMANFAE 52 X 41,505
= 29,063
Al 12,452
ORI HFAIE ABIXIA 80,320 66,176 14,144
Al 80,320
307 elztol & 80,320 66,176 14,144
Al 80,320
10 AlISXAIZEHE 22X 80,320 66,176 14,144
OHMLRINFAE S+22E 69,600
Al 69,600
OZOANFAIE SAHA SXEIE 5,800
Al 5,800
OZOHANFAIE 2EHl S FIHAIA(2HA
HIZEH) 1,920
Al 1,920
O AFAIE L 2SH| 3,000
Al 3,000
oSS HEIE 2SN 134,355 121,964 12,391
Al 134,355
307 @120l & 134,355 121,964 12,391
Al 134,355
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Hlw

95,143

95,143

38,740

38,740

38,740

26,955

6,955

6,955

HMEE
Ofl &k2h

310,060

310,060

167,100

167,100

167,100

2,000
2,000
2,000

2,000
2,000
2,000

165,488

165,488

165,488

Ofl &F2H

405,203

Al

405,203

405,203

366,503

Al

366,503
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33,000

Al

1,000
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SN MBI
B3 mo{olo] 40| W BHal
Sl Hojel AAsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SSYQ NHUSME AlH FOHHA 30,000 0 30,000
Al 30,000
307 21201 & 30,000 0 30,000
Al 30,000
10 Al SXAAEEHE 22X 30,000 0 30,000
OSSHM ANEHHEHH AlHl =OHAE 30,000
Al 30,000
Zofel EX710] n= 15,000 11,425 3,575
= 12,000
- 3,000
301 LEtE N = 15,000 11,425 3,575
= 12,000
- 3,000
01 Al EE A S(FRDEXA) 15,000 11,425 3,575
OFMHAERII| WFAY 15,000
= 12,000
- 3,000
ZOHQ EXI101 w=ClAtY 137,400 115,220 22,180
Al 137,400
307 @I2t01 & 137,400 115,220 22,180
Al 137,400
11 AMEISXAIEEXS 137,400 115,220 22,180
OZOMAE R ==2lAtY X 137,400
Al 137,400
ZoHe! XFgel 224 E At X 28,375 25,562 2,813
Al 28,375
307 @I2t01 & 28,375 25,562 2,813
Al 28,375
11 AMEISXAIEEXS 28,375 25,562 2,813
O X5l 22 XHE At X2 28,375
Al 28,375
ZOHAISXALY AllEHHMSUES X 13,000 13,000
307 elzto| & 13,000 13,000
02 2B YAIHE £ 13,000 13,000
O s2&s Al XId 13,000
Zoje! sXAS0 XA(ExX) 12,232,756 6,769,230 5,463,526
= 8,562,929
Al 3,669,827
307 @I2t01 & 12,232,756 6,769,230 5,463,526
= 8,562,929
Al 3,669,827
11 AMEISXAEEES 12,232,756 6,769,230 5,463,526




SN MBI
B3 mo{olo] 40| W BHal
Sl Hojel AAsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oFelgs XA 12,232,756
= 8,562,929
Al 3,669,827
el STESH KN OHHS0) 85,679 18,197 67,482
= 59,975
Al 25,704
307 21201 & 85,679 18,197 67,482
= 59,975
Al 25,704
11 AMEISXAEEES 85,679 18,197 67,482
OF0jel 2SXNES0H X (OHHS0]) 85,679
= 59,975
Al 25,704
oIS KIJAAHE AlBIFOt 428,022 352,513 75,509
Al 428,022
307 elztol & 428,022 362,513 75,509
Al 428,022
11 AMISXAIEEXE 428,022 362,513 75,509
OZojees XAAE AlBI=It 428,022
Al 428,022
oeles NEAY dol9E+g 3,600 3,600
201 er23| 3,600 3,600
01 AtR2te|HI 3,600 3,600
OFelasAd &9 ¢ 3,600
SEHEAMEIA M X 798,147 760,119 38,028
= 568,703
Al 239,444
307 elztol & 798,147 760,119 38,028
= 558,703
Al 239,444
11 AMEISXAEEES 798,147 760,119 38,028
OgegMaAtblA 798,147
= 558,703
Al 239,444
AL EXE HEH XA 4,200 5,120 A920
= 2,940
Al 1,260
307 212+01& 4,200 5,120 A920
= 2,940
Al 1,260
11 AMEISXAEEES 4,200 5,120 2920
O 4,200




SN MBI
B3 mo{olo] 40| W BHal
Sl Hojel AAsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 2,940
Al 1,260
LI RRACINERIA 4,000 5,100 AT1,100
= 2,800
Al 1,200
307 gl2to| & 4,000 5,100 21,100
= 2,800
Al 1,200
11 ARRIS XA E X 4,000 5,100 A1,100
Ooggdie fFIaelaEgild 4,000
= 2,800
Al 1,200
LEHQ FHESHEIAXRA 550,974 211,200 339,774
= 385,681
Al 165,293
307 el2to| & 550,974 211,200 339,774
= 385,681
Al 165,293
11 AMEISXAIEEXS 550,974 211,200 339,774
O2LHM F2HESAHIAXA 550,974
= 385,681
Al 165,293
LEHOQ FHESHHIA AHIFIIXIA 6,000 18,617 A12,617
Al 6,000
307 @120l & 6,000 18,617 A12,617
Al 6,000
11 AMEISXAIEEE 6,000 18,617 A12,617
Ogadel =HESAHHIA AlHIFIL 6,000
Al 6,000
LT FAHESAHIA =5 =E 1,200 1,200 0
201 er23| 1,200 1,200
01 At2tltl 1,200 1,200
OLE I F2HESABIL = AHA2
@ g 1,200
HAE SRS YBSSEAHIA 193,344 288,558 £%,214
= 135,342
Al 58,002
307 21201 & 193,344 288,558 N95,214
= 135,342
Al 58,002
11 AMEISXAEEES 193,344 288,558 A95,214
OF4d LIS BUh==3IMHIL 193,344
= 135,342
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SN MBI
B3 mo{olo] 40| W BHal
Sl Hojel AAsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFS{U ES={GIES PN = 750,680
= 525,476
Al 157,643
- 67,561
Z=L(XARAE) K= 448,683 399,039 49,644
= 314,078
Al H,223
- 40,382
301 22N = 448,683 399,039 49,644
= 314,078
Al 9,223
- 40,382
01 Al E2E A S(FREEMA) 448,683 399,039 49,644
O+ (HeAS) Xa 448,683
= 314,078
Al 94,223
- 40,382
ZOoHe! MHE+& 162,696 185,000 7,696
Al 162,696
301 EtE N = 162,696 185,000 7,696
Al 162,696
02 MBI 2HHSFHS(HAANS, KLHE) 162,696 0 162,696
(OFS{U ReIPV =SS, 162,696
Al 162,696
oozl K& 252,143 212,433 39,710
= 201,714
Al 50,429
308 XtXIEMSO0IH 252,143 212,433 39,710
= 201,714
Al 50,429
11 SIS0t 4 A AS A 252,143 212,433 39,710
Ol =Hl K& 252,143
= 201,714
Al 50,429
ZOHRIHESIAIE A H=ZAL 135,000 0 135,000
Al 40,500
- 94,500
101 e124d| 133,550 0 133,550
Al 40,065
- 93,485
M JIZtHZ2SE 133,550 0 133,550
O EHAAIE AE M= AL Q124H| 133,550
Al 40,065
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SN MBI
B3 mo{olo] 40| W BHal
chel: FOjRl AoIEA (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
el 8SEFT S| FA2 1,260 1,260
201 er23 | 1,260 1,260
2 35234l 1,260 1,260
Ol MS2H7 &I 7A2c 1,260
AF2LIH(MEL2E ) 261,677 115,680 145,997
= 91,230
Al 22,807
- 147,640
Jl=2dsl 114,640 115,680 1,040
JI23Hl 114,640 115,680 1,040
201 fer=3| 34,240 34,240 0
01 AtR2tc|Hl 34,240 34,240 0
OSAEA 7Y 20,0003 »80f A 1,600
OEUH=HI 5,712
-ZglH &Y 176,000 *4CH+53] 3,520
—ZoZeld 23 274,000 x20H*45 2,19
ORM2EII2+EH]
20,0002 x33F 122 7,920
OAIZIRIZ RS A
8,000 x641+33& * 122 19,008
202 04l 75,240 75,240
01 =LHOHI 75,240 75,240
OZU 048l 190,000 x33& * 122 75,240
203 =4l 5,160 5,160
MU FA2SHI LI 5,160 5,160
ORN2IYRFAHI(SRA XF) 5,160
-30Q101at 400,000 123 4,800
-EeA 5,0008 62 *12& 360
Ig =g 147,037 0 147,037
= 91,230
Al 22,807
T 33,000
At 2RI EER AN S (Sl 2 S 022 AF 2124H]) 147,037 0 147,037
= 91,230
Al 22,807
- 33,000
101 e124d| 123,558 0 123,558
= 72,986
Al 18,246
- 32,326
03 SR (RIH )22+ 123,558 0 123,558
O2A2S0 A H= 116,909
-JlZ2s 2,216,100 ~3F 122 79,780




SH: MEPT
. HY2IZH|(MEZE
chol: ol (19 @)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
iy 63,824
Al 15,956
=2y 318, 1002 x3H + 12& 11,452
= 9,162
Al 2,290
—H g A 125,0003 3 *12& 4,500
L mE=rs] 125,0003 3512 4,500
|2 886,440 3% +4H 10,638
-CIOtE M| S JIE=Y 6,039
Oflgzt&2IAF SE SO
1,108,050& *x3Z *23] 6,649
303 ZA&S 2,100 2,100
oy 1,680
Al 420
02 dta3 2,100 2,100
Oflg=0 &AL 8utao2
1,050,000 *2H 2,100
= 1,680
Al 420
M HAIRE3S 21,379 21,379
= 16,564
Al 4,141
= 674
04 BRE(RIIH)2 2R BEEREZ S 21,379 21,379
O=0g J|2ARE= 455,000& 122 5,460
= 4,368
Al 1,092
OHLEE J|ARE 2 423,000& *12& 5,076
iy 4,061
Al 1,015
OLNEEE MHEH 270,000 =123 3,240
= 2,592
Al 648
Oflgz0&eA EXZHEE2
211,180 x35+ 12& 7,603
= 5,543
Al 1,386
- 674
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